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 ( ) 280.0
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(320-260) /260
«K »

23%
= =207
(2000-1800) / 1800 11.1%
(300-256) / 256 25%
«» - = =2-25
(2000-1800)/1800 11.1%
(300-234) / 234 28.2%
« » = =254
(2000-1800)/1800 11.1%
, 11% (1800-2000),
« »
20.7%- , « »- 22.5% « »- 25.4%:
0% 25% 50%
. 10100 758.Q 550.0
| . - 2520 550.0
| . 1010.0 1010.0 1010.0
% " 15 20
| - 380 110.0
@
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- 0% 25% 50%
1400 2600 3200 1400 2600 3200 1400 2600 3200
380 380 380 1100 1100 1100

%

1400 2600 3200 1020 2220 2820 310 1500 2100

280 520 640 204 444 564 60 300 420

(20%)
1120 2080 2560 816 1776 2256 240 1200 1680
% 111 206 253 108 234 298 44 218 305
- 186 10 117 103 269 114
186
% 186 1231 186 123 186 123
% 186 123 217 127 500 140
X 14.2%= x X 19006 X x 26.1%= x
=253 =208 =305
- 11 108 44
50%. ,
30.5%
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(14.2%):

(2.69).
11%
« » ''23.1 %. « » - 25.0%. « » - 28.2%,
17.4%,29.4% 53.2%
)
= / ( - ) -
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55 . ) 3 . )
= 5000/ (55000 - 3000) = 0.096 9.6%

1500 ,
8%- , 16.0

= [1.5(1.08) /16.0] + 0.08 = 18.1%
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